
 2 

2.1

 2.1.1  

 12  8% 
 10%  7.2% 

( , 2521) 

  (Utility Function) 
 (time preference)   

 (S)  (Y) 
 (i) 

S = f (Y,i) 
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1.

2.

1)
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2)

3)

 10 - 15 % 
 ( , 2521) 

2.1.2  (Absolute income hypothesis)
 (2539)  John  Maynard Keynes  

  APC
 APC

C  =   a  +  bYd   ;      0 <  b  < 1 
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  2.1

 (C) 
   C  =   a  +  bYd

      

                       a 
                                  (Yd) 

   C = 
a  = 

 (autonomous Consumption expenditure)  : a

b   =  (MPC)  
 Yd =  (non-income determinants) 

 b   
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      C   =   a  +  bYd   ;      0 <  b  < 1 
Yd =   C + S 

   S  =   Yd – C  =  Yd – (a + bYd)
       =    - a + (1-b) Yd

           APS  =   S/Y    =   - a/Y + ( 1-b) 
  S  =  

                            - a  =

  (1-b)   =   
                                       1   (Marginal propensity to save : MPS)

 MPS 
 (1-b)  APS (Average propensity to save)    S/Y 

  2.2
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(net borrower) 

2.1.3  (Logit model)

 (dummy 
variable)  ( ,
2549:129)

   2
  2   1  0 
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X = 1  (treated group) 
X = 0 

 (categories) 
 k  k-

1

  Logit model
 Logit model 

  Y = f (X1,X2,X3,….Xn)    ……..(1.1) 

 X1,X2,X3,….Xn     (independent  variable) 
 (qualitative  choice) 

    Y  (Probability) 
  2    1    0  

y*i  = xe

x
e

1
     ……….(1.2) 

 y*  (Latent Variable) 
(unobservable)   y   0   1

  y  =  1   y* > 0i 
  y  = 0    y* >0i  ui-N(oi 2)

 (likelihood function) 
 L  =  prob( y1 = 0 ) . prob( y2 = 0 )…….prob(ym = 0) 
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 L = 
iy

i
n

i

y

i XX
1

1

1

1    ………… (1.3) 

(logarithm)
(likelihood  function)

n

i

i
i

i
i

X
Iny

X
InyInL

1

1.1.

 = 
11

1
ii y

i

y

i X
In

X
In   …………(1.4) 

 (Y)  2  Binary Logistic Model 

        Log 
1

P  =  b0 + b1X1 + ….+bnXn

    log   log (odds)   logit 
1

P

 Y   2    ; J >2   logit    J-1
 Baseline  Category Logit   Baseline  Category Logit   J

 logit    Category   i

Jcategory 
icategory 

P

P =   =  bi0 + b11X1 + ….+binXn

  bi0 + b11...... bin  category  I
  Baseline Category  b0 = b1=…..bn=0

(Regression Analysis) 

Y = 0 + 1 X1 + 2 X2   +........... + n  Xn + ui

  Y     2  1  0 
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0  ( )
1

 Xi

2.2

 ( )

 (2539)
 ( )

 420 

 ( )
 4  1 

     (2543)  
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  (2543) 

 (Accidental Sampling) 
 4  200 

 50 
 Regression model 

 3 
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 (2544) 

 8 
 240  2 
 120  120 

 logit model 
 31-40 

 3  10,001-20,000 
 1,000 – 3,000 

 logit model 
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 (2545) 

 ( ) 10   290 
 1  2545- 31  2545 

 (Percentage)  (Frequency)  Non-
Parametric  Chi-Square 

 ( )

(Purposive Sampling) 
 38.3  4.9 

 17,069 
 6,573 

 2 

 ( )
/


